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18. Which of the following audit tests would provide evidence regarding the balance-related audit objective of existence for an audit of
notes payable? (A) Examine due dates on duplicate copies of notes. (B) Examine balance sheet for proper presentation and disclosure
of notes payable. (C) Examine corporate minutes for loan approval. (D) Foot the notes payable list for notes payable and accrued
interest.

19. When examining payroll transactions, an auditor is primarily concerned with the possibility of: (A) incorrect summaries of
employee time records. (B) overpayments and unauthorized payments. (C) under withholding of amounts required to be withheld.(D)
posting of gross payroll amounts to incorrect salary expense accounts.

20. Narratives, flowcharts, and internal control questionnaires are three common methods of: (A) testing the internal controls. (B)
documenting the auditor’s understanding of internal controls. (C) designing the audit manual and procedures. (D) documenting the
auditor’s understanding of a client’s organizational structure. :

R




21. Which of the following is a significant audit concern related to the transfer of inventory from one location to another? (A) Recorded
transfers occurred. (B) Transfers were properly transported. (C) Transfers were properly planned. (D)Transfers represent efficient
movement of assets.

22. Which of the following is not a condition for a contingent liability to exist? (A) There is a potential future payment to an outside
party that would result from a current condition. (B) There is uncertainty about the amount of the future payment. (C) The outcome of
an uncertainty will be resolved by some future event. () The amount of the future payment is reasonably estimable.

23. Refusal by a client to prepare and sign the representation letter would require a(n): (A) qualified opinion or a disclaimer. (B)
adverse opinion or a disclaimer. (C) qualified or an adverse opinion. (D} unqualified opinion with an explanatory paragraph.

24. Which of the following is the most efficient audit procedure for the detection of unrecorded liabilities at the balance sheet date? (A)
Obtain an attorney’s letter from the client’s attorney. (B). Confirm large accounts payable balances at the balance sheet date. (C)
Examine purchase orders issued for several days prior to the close of the year. (D) Compare cash disbursements in the subsequent
period with the accounts payable trial balance at year-end.

25. It usually takes more time to audit the acquisition and payment cycle than other cycles because: (A) there is a greater possibility of
fraud in these transactions. (B) internal controls in this area are usually the weakest. (C) of the large number of accounts affected. (D)
there is a greater likelihood of lawsuits against the CPA relating to these accounts.

26. An audit procedure that compares the name, amount, and dates shown on remittance advices with cash receipts journal entries and
with related duplicate deposit slips would be effective in detecting: (A) kiting. (B) lapping. (C) illicit write-offs of customers as
uncollectible accounts. (D) sales without proper credit authorization.

27. The most important test of details of balances for accounts receivable is: (A} confirmations. (B) recalculation of the aged
receivables and uncollectible accounts. (C) tracing credit memos for returned merchandise to receiving room reports. (D) tracing
from shipping documents to journals to the accounts receivable ledger.

28. The advantage of using the negative form of confirmations is that: (A) follow-up procedures are scheduled automatically. (B) a
non-response from the customer proves that the balance is correct. (C) larger sample sizes can be used without increasing the costs
above what would have been required for positive confirmations. (D) they provide greater refiance.

29. If an auditor desires a greater level of assurance in auditing a balance, the acceptable risk of incorrect acceptance: {(A) is increased.

(B) is reduced. (C) is not changed. (D) may be reduced or increased depending upon other circumstances.

30. The acceptable risk of incorrect acceptance is most related to: (A) audit efficiency. (B) audit results. (C) audit effectiveness. (D)
audit estimation.

31. Which department within a manufacturing company is often responsible for the review of production and scrap reports? (A)
Purchasing. (B) Accounts Payable. (C) Accounting. (D) Production.

32.To minimize the opportunity for fraud, unclaimed salary checks should be: (A) deposited in a special bank account. (B) kept in the
payroll department. (C) left with the employee’s supervisor. (D) held for the employee in the personnel department.

33. Most auditors assess inherent risk as high for related parties and related-party transactions because: (A) it is required by generally
accepted accounting principles. (B) of the lack of independence between the parties. (C) of the unique classification of related-party
transaciions required on the balance sheet. (D) of the unique classification of related-party transactions required on the income
statement,

34. Which of the following is a factor that relates to incentives or pressures to commit fraudulent financial reporting? (A) Significant
accounting estimates involving subjective judgments. (B) Excessive pressure for management to meet debt repayment requirements.
(C) Management’s practice of making overly aggressive forecasts. (D) High turnover of accounting, internal audit, and information
technology staff. :

35. Which of the following circumstances would ordinarily not impair the auditor’s independence? (A) Litigation by a client against an
audit firm related to tax services. (B) Litigation by a client against an audit firm claiming a deficiency in the previous audit. (C)
Litigation by an audit firm against a client claiming management fraud or deceit. (D) Intent to start a lawsuit at some future date,
after the current audit is completed, claiming a deficiency in the previous audit.

» [HEE
g TJ%?%JFEU LF 53 L ABER MS(DFNERERG 7)) Q?Jéi‘%é}ﬁz;%%’] M4 GBS TE 2 mUNE
@
2. FHRESTRAIARE 48 S HE » BEERA R BB AFHEEATERERR  BRiTIMEEERF - 8 57)
3L FAAEEII AN ¢ (G210 57 SERGREREUEE - SRR
(DR EEHEIEAETTE YT » SRR B SRy ERGRIL EUEJ%ET%‘%%’A% 20% -
QFTHPERZETHEREEABL EFHEERTER - SASERETEFIEEE N REZE
G g R FE P C sHE AT
@) T EHANERER RS EST TS - ] GtAHE TS R B = -
O)XEHEI-—EHIBEETEPNEREA - |

RS ESEEARA WS, | EH - AEFEREYN ) BUE P AR B L BT Eet R
IHRETZERE - BHABEUHESRERE - DR REMENE % -

TR EEEE TR - TR ERE - BRIA TR
AR BN 2 B EET) BT M R
0 . .




	102Master's degree-01-0002
	102Master's degree-01-0002-1

